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—IERRE (BE'104 )
1 23 +ax® —5x—2 A x* +3x+b g, Hi(a, b)=

@, w(— ~6)

1+(a-13)
1+3+b)l+  a- 5- 2
1+ 3+ b
(a-3)+(-5-b)— 2
(@a-3)+3(a—3)+hb(a-3)
0
{—5—b=3a—9:>b=4—3aﬁ/\"|<£ﬁ
—2=b(a-3)

= 3a’-13a+10=0 = azlﬁ% = b=18-6 > ..(a, b)=(1, 1)&(%, -6)

2. #% f(x) B—Z3E, 2 (x+1D) F () BREA X + x+LAYEREURy 2x -1, Al £ () BREAXE + X+ LHYEREUS

i | 3x+2
fiEt | 8% f () WX+ x+ 1R ERE R ax+ b, FHERIAFEEA
f(x) = (x> + x+1)Q(x) + (ax +b)
EE X% +x+1 = (X+1) f(X)=(X* + X +DQ(X)(Xx +1) + (ax + b)(x +1)
= (X +x+DQ(X)(x+) +a(x* +x+1) +bx+(b—a)
= (X* +x+D[Q(X)(x+1) +a]+bx+(b—a),
22 (x+1) F () BREL X + x+ LHYER = B bx + (b - a) |
EHbx+((b-a)=2x-1, #b=2, a=3, Ak hax+b=3x+2 .
3. B—2IER T (X) =X -3¢+ x+ 3Tk alx — 2)8 + b(x — 2)% + c(x — 2) + d Iy =t, EHrfa, b, c,
d & RHEH .
(DK@, b, c, d)=
FHQ) Z &R ETE (L 99)2L1WE¢/J\%Q%IE@U%
[ % ] @@, 3, 1, 1);(2)0.9903
WF)=x3-3¢+x+3=ax-2)°>+b(x—-2)>+c(x—2)+d

=
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1-3+1+3[2
+2-2-2
1-1-1€D——d
+2+2

1+1& D——c
+2
C%)@—»b

a

= (a, b, c,d)y=(, 3,1, 1), BIfX)=1+x-2)+3(x-2)"+(x—-2)°

(2) f(1.99) = 1 + (1.99 — 2) + 3(1.99 — 2)? + (1.99 — 2)* = 1 - 0.01 + 3 x 0.0001 = 0.9903

4. 3k 81(0.666)* — 54(0.666) * — 63(0.666) > + 39(0.666) + 5 7 ¥ {LI{E T/ N BEILEE = fr
(EUfr LR A ) .
3.014
fEfT | 2 f(x) =81x* —54x* — 63x* + 39x + 5
FH4EEnET i) =1 Bx—2)*+6(3x—2)* +5(3x —2)* - 7(3x —2) + 3
3x — 2 =3(0.666) — 2 =1.998 — 2 = — 0.002
i £(0.666) = (—=7)x(~0.002)+3= 3.014 ( HE& —IEZ{EEIT])
5.3 xIZIEF (X -1 +4(x—1D* + 2=a(x-D(X - 2)(X+ D) +b(x=1)(x-2) +c(x—-2)+d , K
(a, b, c, d)= .
3 1 7 9
Xx=2f A = 3+4+2=d ..d=9
x=1fLA = 2=cx(-)+d = c=7
x=-1ft A = 3x(-2)°+4x(-2)*+2=b(-2)(-3)+c(-3) +d
Bl6b-3c+d=-6 = b=1
x=0ftA = 3x(-1)°+4x(-1)*+2=a(-1)(-2)x1+b(-1)(-2) +c(-2) +d
Bl2a+2b-2c+d=3 = 2a+2-14+9=3 = a=3
rdeg f(x)=3, f(123)=5, f(124) =6, f (125) =25, f (126) =44, HIl f (122) {8 5

w5 ] 40

et | [F% 1)
2 (x) = a(x — 125)° + b(x — 125)% + ¢(x —125) + 25

o

f(123)=5 —8a+4b-2c+25=5 4da—-2b+c=10
f(124)=6 = J-a+b-c+25=6 = Ja-b+c=19
f(126) = 44 a+b+c+25=44 a+b+c=19
b=0, a=—-3, c=22 .. f(x)=—3(x—125)%+22(x —125) + 25
f(122) = (- 3)(= 27) + 22(- 3) + 25 =40

(/i 2]

£(X) =5x (x—=124)(x—125)(x —126) - 6x (x—=123)(x —125)(x —126)

(123-124)(123-125)(123-126)  (124—-123)(124 —125)(124 —126)
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(x—123)(x —124)(x —126) L a4x (x—123)(x —124)(x—125)

(125—123)(125 —124)(125—126) (126 —123)(126 —124)(126 —125)
L 1122) -5 CAENA) o (DEAEA) e (DEDA) L, (D)
(=D(=2)(-3) OED(=2) (DD 32D

=20-36+100-44=40

7.85% £ (x) = 351x° — 692x* — 23x® + 9x* — 36x + 50, HIf(2)=

i

=

351-692-23+9-36+50 |2
+702+20—-6+ 6—60
351+ 10— 3+3-30-10

i E&EERAR R g r=1(2)=-10
8. &% f(\)EL g ()R EHEZLTER, DX —3x+ 2 B f (05368300 3x— 4, DLx— 1k g (056807 5,
FIBAx =1 BR £ (x) + 9 (OHYERZCS
:
f)=0-3x+2)q(X)+3x-4 = f(@1)=0-q(l)+3-4=-1
Px-1Fgx)zt=/s5 = g(1)=5
PAx=1FRfx)+g )z f()+g1)=(-1)+5=4

90FH = REEN g9 (-1)=9(0)=9g(2) =0, g(1)=4, H[H
Mg = (@I h () =x"—x*+ 1, FI39(x) - 4h ()# x - 1 ERAVERTUS

(1) = 2x (x + 1)(x — 2);(2) 8
(DE g(-1)=g(0)=g(2)=0, degg (x)=3, T g(X)=ax(x+1)(x—2)
Ngl)=ax2x(-1)=4 = a=-2, HHgX)=—2x(x+1)(x-2)
(2)% F (x) =3g (x) — 4h (x)
HIFTReR= s F (1) =39 (1) -4h(1)=3x4-4x(1-1+1)=12-4=8

10.a, b B, % 2x — 3 81 3x + 1 98 ax® + bx? — 47x — 15 (Y=, HiEE @@, b) =

(24, 2)
L f(x)=ax®+ bx* —47x - 15

2x-3|f(x) = f(g):0:> £a+gb—%—15=0 = 3a+2b=76----- )
2 8 4 2

X+1|f(x) = f(_—l):0:> —ia+£b+ﬂ—15:0 —=-a+3b=-18------ @
3 27 9 3

O+@x3 11b=76-54=22 .. b=2{LAQfF a=24

IO REGISIER, Dx- 152, BB 9 bix-2[f>, k16, &
FOQBRBAX — 1)(x — TR B
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EHIf(1)=9, f(2)=16, 3 f(x)=(Xx-1)(x-2)Q (X) + (ax + b)

f)=a+b=9 a=7 bt s
f(2)=2a+b=16 _ |b=2 AT

12520850 F (OFRLL X° + 2x — 3 15682 2x + 5 5 LA x° — 3x — 10 156550 5x — 2, HI|
f (OB X2 — 6X + 5 HBR =t By

E%D{f(x)z(xz+2x—3)q1(x)+2x+5

f (x) = (x* —3x-10)q,(X) +5x - 2

{f(x)=(x+3)(x—1)q1(x)+2x+5 N {f(l)z?

f(x) =(x-5)(x+2)q,(x) +5x—-2 f(5)=23
HfX)=0C-6x+5Q(X)+R(X)=(x-5x-1)Q (X)+ax+b

<x=1 = f(l)=a+b=7----- @®:x=5 = f(B)=5a+b=23----- @
HO, @5 a=4, b=3, X RX)=ax+b=4x+3

13578 F (), f(X)+ (x—3) 2Rzl 2, f(x)+ (¢ +5x—3) 28kl 4x—1, HI
(1) f (X) + (2 = Tx + 3) 7 8a =t
(2) f (X) + (x — 3)(2x* + 5x — 3) 7 Eh =t
7 NN N IS 3
(1)5x+5,(2) 5x +2x 10
(1)f(x):(2x2+5x—3)ql(x)+4x—1:(2x—1)(x+3)q1(x)+4x—1’f(%)=4x%—1=1
N2 -Tx+3=(2x-1)(x-3) .. FHfX =2x-1)(x—-3)g(x)+ax-3)+2

1 1 2
f(z)=a(=-3)+2=1 = a=—
(5)=al5-3) c

f(X) + (2 - 7x + 3)9’\]@%5@%% (x-3)+2 =§x +%

(2) B f(X)=(x—3)(2x° +5x — 3) g3(x) + b(2x* + 5x — 3) + 4x — 1

f(3)=2 = b(2x3+5x3-3)+4x3-1=2 =30b+11=2 ’bz—%
E?)’zf(x);(x—3)(2x2+5x—S)EI’\jﬁééJC}JE‘:,—i(2x2+5x—3)+4x—1——§x2+§x—i
' 0 T 5 2010
145 degf(x)=3, EXf(Q)=F(2)=Ff(3)=4, f(4)=34, AIf(X)=
fiEE | 5(x—-1D(x-2)(x-3)+4
fEfr | T =f@)=fQ)=4 .. TXFRXx-1, x-2, x-3#Er4 > X degf(x)=3
i) =ax-1)x-2)(x-3)+4
f(4)=34 = a@B)(Q)(L)+4=34> .. a=5
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f(X)=5(x-1)(x-2)(x—3)+4

15.5cdegf(x)=3, Hf(2)=F(-1)=Ff(4)=3, f(1)=-9, AIf(0)=
s | - 13
kT | degf(x)=3, Q) =f(-1)=f(4)=3 = fx)=aXx-2)x+1)(x-4)+3
= fD=aC-D2)(-3)+3=-9 = a=-2 = fX)=-2x-2)x+1)(x—-4)+3
f(0)=—2(-2)(1)(-4)+3=-13

16,38 X — dx + 3FRZIER F (X), g (OFIERR B B 5x -2, x—3: X +3x+2[Hf(x), g NHIEREZE
4x+3, 2x+1, AIxX*—x—-6f(x) - g AR

f(x)=(Xx-1)(x-3 5x—2
fiEmT | o (x— 1) (x—3)fE f (%), Q(X)ﬁé?ﬁ%/f%Sx—Z,x—S:{ (X) = (x=1)(x—3)Q,(x) +5x

g(x) = (x=D)(x=3)Q,(x) +x -3

=>x-3F (), g®ertEh f(3)=5x3-3=13, ¢g(3)=3-3=0
Mx+1)(x+2)BR f(x), g (ERTUE A 4x+3, 2x+1

f(X) = (X+1)(x+2)Q,(X) +4x+3
{g(x) = (X+D(x+2)Q,(x) +2x+1

X+2Ef(X), gXeR&k f(-2)=4x(-2)+3=-5, g(-2)=2x(-2)+1=-3
x=3Frf(x) - g (ER=UE f(3) g (3)=13(0)=0

x+2Frf(x) - gMERH S T(-2)g(-2)=(-5)(-3)=15

s f () - g() =QX)(x+2)(x—3) + (ax + b)
x=3Ff(X)gXEr= =3a+b=0, ¥ x+2FEf(X)gXerX, =-2a+b=15
a=-3, b=9, BIFTKER - 3x+9

17267870 F () = X% + 30 - 5x® + 7T R BL x° — 1 2 805
% | K +5
EHE () =Q (¢ - 1) +r (%)
X -1=0, B4 X =1, A f )REER r (x)
f(X) = (%)% x+303)% -50x3°+7
fFOORRLAXG -1 2880 1% %+ 3(1)* - 5(1) 8+ 7=x*+5

18.LA x —1BRZ I £ (x) &R 1, DAx® + x+1B% f(x) 6770 —x -1, SREC —1F £ (x) Z 8=k
’
fiEEtT X 1= (x=D(XF +x+1)
f(X)=(x-D)Q(x)+1 B fM)=1; Zf(x)=(x*+x+1)Q(X)-—x-1
()= x-DxX*+x+DQ'(X)+a(x* +x+1)—x-1
i) =ax(@+1+)-1-1=1 = a=1 . .&BXEK+x+])-x-1=x°
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19 f(x)=x*, g()=(@-1)x*+(b+2)x+(c-3), A f(5)=g(5), f(~2)=g(/2), f(100)=g(100),
* (Da= . (b= . (3)c=
(1)2:(2)-2:(3)3
5, V2, 100 B35t f(x) = g(0) FI=AR
BEfX), gx) 2L -XITENX = FT(X)=9(x) (EFEX)
Bix* =(a-1)x* + (b +2)x+(c—3)=x*+0x+0
c.a-1=1Hb+2=0Hc-3=0 = a=2Hb=-2Hc=3

0% () =x"+4¢-3x+1, Al (LI —x+ LR f ()2 E
QUAX =+ x -1 f ()2 =5
(1) — 4x — 2;(2)5%3 = X2 — 3x + 2
[ ] (%% -x+1=0 = x+)K-x+1)=x"+1=0 .. x*=-1
B r() = (-1 xxX+4x(-1)-3x+1
=—x*—3x—-3=—-(x-1)-3x—-3=-4x-2
2 X=X +x-1=(x=1)C + D EHEOH X+ LR f (R8s —x° - 3x -3
AR () =xT +4C -3+ 1@
=(¢+1) Qu(x) +(-x*-3x-3)
=X-DX°+1D) Q) +kC+1)+(-x*—3x—3)@
Sx=1{LA0® S0 f()=3=kx2+(-7) . k=5
= r(X)=5+1)+(-x*-3x-3)=5-x"-3x+2

)1 HrPH2(3+\/7 3+:1/ﬁ)3_(3+:1/1_7)2_10(3+;/ﬁ

23417
= 4

T
é\x=3+;/1_7 = 4x-3=V17 = 16¢-24x-8=0 .. 2¢-3x-1=0
3+\/_

)+2 ZfE R

i) =2+ -x*-10x+2 = FEF=1(

f(X)= (2% -3x—1)(x* +2x + 3) + (x + 5)

3+17 | _3++/17 _23+17
f( )= +5=
4 4 4
1+2+3

2-3-1)2+1-1-10+2
2-3-1
~ 4+0-10
4-6 -2
6 —8+2
6 -9-3
1+5
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2.3 %EF (X +1 ) B X +1iYas = ax+b, Hl()a= , (2)b=
(1)-8:(2)0
FA=X+1, AI(x+1)"=x*+2x+1=A+2x
(Xx+1)° =[ (x+1)’ P =(A+2x )’ = A’ +6xA* +12x*A+8X°
=A (A*+6xA+12x* )+8x (x* +1)—8x
=A (A* +6xA+12x* +8x ) —8x
#Ha=-8, b=0
B =RELERZTER | (X) TG (x+1)° 8Bk, H f(X) BREAx - 188205 8, Al f(X) BRI (x+1)* (x—1)
HIERZURs .
2X% +4x+2
T | B () =(x+D*(x=DP(x) +a(x+1)*,
HfL=8= f()=al+1)?=8, ..a=2,
TR aE R 2(x +1)* =2X° +4x+2 .

%78



